

$$I(X_{-m:0}; X_{0:N}) = I(X_{-m:0}; X_{0:N} | \theta) + H(\theta)$$

$$+ H(\theta | X_{-m:N}) - H(\theta | X_{-m:0}) - H(\theta | X_{0:N})$$

nonnegative

$$I(X_{-m:0}; X_{0:N} | \theta) = I(X_{-m:0}; X_{0:N} | \theta, S) + H(S | \theta) + H(S | X_{-m:N}, \theta) - H(S | \theta, X_{-m:0}) - H(S | X_{0:N}, \theta)$$

$$I(X_{-m:0}; X_{0:N} | \theta) = 0$$

III-1 (H) \rightarrow ok

$$H(\theta) \sim -\frac{1}{2} \log^M H(\theta) = 1$$

$$H(\theta | X_{-m:N}) \sim -\frac{1}{2} \log^M H(\theta | X_{-m:N}) = \frac{1}{2} \log(M+N)$$

$$H(\theta | X_{0:N}) \sim -\frac{1}{2} \log^M H(\theta | X_{0:N}) = \frac{1}{2} \log(M+N)$$

$$p(\theta | X_{-m:N}) = \frac{p(X_{-m:N} | \theta) p(\theta)}{f(X_{-m:N})}$$

$$\mathcal{N}(\hat{p}, \frac{\sigma_p}{M+N})$$

$$I(X_{-m:0}; X_{0:N}) \sim \frac{1}{2} \log \frac{MN}{M+N}$$

$$\frac{MN}{M+N} = M \cdot \frac{N}{M+N}$$